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	2018 June New VMware 2V0-602 Exam Dumps with PDF and VCE Free Updated Today! Following are some new 2V0-602
Real Exam Questions:]1.|2018 Latest 2V0-602 Exam Dumps (PDF & VCE) 362Q&As

Download:https://www.braindump2go.com/2v0-602.html2.|2018 Latest 2V0-602 Exam Questions & Answers

Download:https://drive.google.com/drive/folders/0B75b5xYLjSSNQnZDZHlKOU5xWm8?usp=sharingQUESTION 325In the

vSphere Web Client, what are the records of user actions or system actions that occur on objects in vCenter Server or on a host?

(Choose the best answer.)A.    EventsB.    Alarm ActionsC.    System LogsD.    AlarmsAnswer: AExplanation:

https://pubs.vmware.com/vsphere-51/index.jsp?topic=%
2Fcom.vmware.vsphere.monitoring.doc%2FGUID-9272E3B2-6A7F-427B-994C-B15FF8CADC25.htmlQUESTION 326What

are the two minimum configurations of a disk group in a vSAN host? (Choose two.)A.    1 SSD drive for the caching tier and 1 or

more HDDs for the capacity tierB.    1 SSD drive for the caching tier and 1 or more SSDs for the capacity tierC.    2 or more SSD

drives for the caching tier and 2 or more SSDs for the capacity tierD.    2 or more SSD drives for the caching tier and 2 or more

HDDs for the capacity tierAnswer: ABExplanation:

https://docs.vmware.com/en/VMware-vSphere/6.5/com.vmware.vsphere.virtualsan.doc/GUID-4B738A10-4506-4D70-8339-28
D8C8331A15.htmlQUESTION 327A vSphere Administrator has an unresponsive ESXi 6.x host and only has access to the Direct

Console User Interface. Which option would allow the Administrator to review live VMkernel logging? (Choose the best answer.)A.

   Alt + F8B.    Alt + F7C.    Alt + F11D.    Alt + F12Answer: DExplanation:https://kb.vmware.com/s/article/2148363QUESTION

328A vSphere Administrator observes that no devices are showing up under an iSCSI Storage Adapter. Which three are valid

troubleshooting methods? (Choose three.)A.    Log in to the ESXi Shell, run the vmkping target_ip command to verify that the

VMkernel interface on the host can ping the iSCSI targetsB.    Use the nc ? target_ip 3260 command to verify that the ESXi host can

reach the iSCSI TCP port (default 3260) on the storage arrayC.    Verify that the MTU size is lower than 9,000 bytesD.    Verify that

the CHAP authentication settings are correctE.    If Jumbo Frames are required, verify that packet fragmentation is allowedAnswer:

ABDExplanation:https://kb.vmware.com/s/article/1003681QUESTION 329What are two possible Startup Actions available to

VMs within a vApp? (Choose two.)A.    NoneB.    Guest ShutdownC.    Power OffD.    Power OnAnswer: ADExplanation:

Reference:

https://docs.vmware.com/en/VMware-vSphere/6.5/com.vmware.vsphere.vm_admin.doc/GUID-0FAB05D4-22F7-4665-B42A-
0FA4B360B398.htmlQUESTION 330Which two statements are true using Resource Pools? (Choose two.)A.    Resource Pools

require vSphere HA to be enabledB.    Resource Pools compartmentalize all resources in a datacenterC.    Resource Pools require

vSphere DRS to be enabledD.    Resource Pools compartmentalize all resources in a clusterAnswer: CDExplanation:

https://docs.vmware.com/en/VMware-vSphere/6.5/com.vmware.vsphere.resmgmt.doc/GUID-0F6C6709-A5DA-4D38-BE08-6
CB1002DD13D.htmlhttps://communities.vmware.com/thread/145338QUESTION 331Which two types of network traffic can be

used for vSphere High Availability (HA)? (Choose two.)A.    VM Network trafficB.    vMotion network trafficC.    VMware vSAN

network trafficD.    Management network trafficAnswer: CDExplanation:Reference:

https://docs.vmware.com/en/VMware-vSphere/6.5/com.vmware.vsphere.virtualsan.doc/GUID-D68890D8-841A-4BD1-ACA1
-DA3D25B6A37A.htmlQUESTION 332Which two components are built into the vCenter Server Appliance 6.5? (Choose two.)A.   

vSphere Auto DeployB.    vRealize OrchestratorC.    vCenter ConverterD.    VMware vSphere Update ManagerAnswer: AD

Explanation:

https://docs.vmware.com/en/VMware-vSphere/6.5/com.vmware.vsphere.install.doc/GUID-78933728-7F02-43AF-ABD8-0BD
CE10418A6.htmlQUESTION 333An Administrator has been tasked with deploying a new vSphere 6.x environment spanning

multiple geographical locations while preserving a single source of authentication?Which vCenter Server topology does VMware

recommend for this scenario?A.    Multi-Site SSO with:an embedded PSC and vCenter Server instance at the primary location no

PSC at remote locations, vCenter Server instances onlyB.    Multi-Site SSO with:An embedded PSC and vCenter Server instance at

each locationC.    Multi-Site SSO with:One or more external PSC and vCenter Server instances at each locationD.    Multi-Site with:

One or more external PSC at the primary location onlyEmbedded PSC and vCenter Server instances at remote locationsAnswer: C

Explanation:

https://docs.vmware.com/en/VMware-vSphere/6.5/com.vmware.vsphere.install.doc/GUID-62CC201A-01ED-4116-8604-FF12
3481DAFC.htmlQUESTION 334A junior vSphere Administrator takes a snapshot before logging into a VM to preserve the current

state in case of a problem.Assuming this process is repeated every day for over 30 days, what two results will happen? (Choose
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two.)A.    The virtual machine can end up consuming more space on the datastore than assignedB.    The virtual machine's

performance will decreaseC.    The administrator will have backups for the entire monthD.    The administrator has successfully

cloned the VM 30 timesAnswer: ABExplanation:https://kb.vmware.com/s/article/1025279QUESTION 335When specifying a

trigger action for an Alarm Definition, what two alarm state changes are available to be triggered on? (Choose two.)A.    from

normal to warningB.    from normal to criticalC.    from critical to normalD.    from critical to warningAnswer: ADExplanation:
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